Possibly useful relations:

T(K)=T(°C)+273.15 T(°F)=2T(°C) + 32° AL = aLAT

AV = VAT PV =nRT PV = NkT
n=N/Ny Vpms = 37];T ﬁ:%mW:%kT
Q = mcAT Q =mLy Q=mL;

Q =mL; % - K;A(T?I_Tl) % - OEA(Téot - Tc401d)
W = PAV monoatomic: AU = %HRAT AU = Q - W
[sochoric: AV =0 Isothermal: AT =0 Isobaric: AP =0
Adiabatic: AQ =0 e=-=1-g¢ €Cammot = 1 — 22
COP, = %2 COPy, = 92

S = (g)rever&ble ASclosed > 0 S=klnW

W = (# microstates)/macrostate

R=18314J/(mol-K) N4z=6.02x10%mol™" k=138x10"%J/K
o =>5.69x107% J/(s-m?- K

1 cal =4.186 J 1 keal = 10% cal 1 Liter = 1073 m?

1 atm = 10° Pa



